GSE Algebra 2




Unit 4: Rational and Radical Relationships
Name____________________________________



Date_____________________

	Unit: 4A
	Homework: 6

	Standard:
· MCC9-12.A.CED.1 Create equations and inequalities in one variable and use them to solve problems. Include equations arising from simple rational functions. 

· MCC9-12.A.REI.2 Solve simple rational and radical equations in one variable, and give examples showing how extraneous solutions may arise. 

	Essential Question: 
· How can you find a solution to a rational equation?
· How can you identify extraneous solutions?

· How does the solution to a rational inequality compare to that of a rational equation?

	Key Words: 
Common denominator, extraneous solution, least common denominator, proportion, ratio, rational equation, rational inequality

	Recommended Resources:

www.walch.com/rr/00201
www.walch.com/rr/00203

www.walch.com/rr/00206

	Solve each rational inequality for x.
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	7. Jacob can pack a coffee shipment in 15 minutes.  Geoffrey can do the same job in 25 minutes.  They need to work together in order to ship a big order this afternoon.  Create a rational inequality that can be solved to determine the minimum time they will need to pack 8 shipments.  Solve it.

	8. Lynn is a package designer.  For her latest assignment, she must design a box with a square base and a volume of 240 cm3 from a single piece of paperboard.  If x represents the length of one side of the base, and the height of the box must exceed the length of the base, what inequality must be solved to find the possible solutions?

	9. The expression 6x + 96 represents the cost in dollars for Wendy’s Wicker Works to produce x wicker wastebaskets.  The average cost can then be found by using the rational expression 
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.  To keep the average cost less than $30 per basket, how many wastebaskets must be produced per day?
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